

CITY COUNCIL AGENDA ITEM

Date: May 27, 2020

To: Mark F. Miller, City Manager

From: Bob Bruner, Assistant City Manager

Lisa Burnham, Accounting Manager Kurt Bovensiep, Public Works Director

Scott Carruthers, Streets & Drains Operations Manager

MaryBeth Murz, Purchasing Manager

Subject: Standard Purchasing Resolution 2: Award to Low Bidder Meeting Specifications - Hauling and

Disposal of Dirt and Debris

History

• The work includes the hauling and disposal of broken concrete and asphalt, fill dirt excavated from water and sewer repairs, and catch basin sludge and street sweepings.

• The current contract expired April 30, 2020.

Purchasing

On May 21, 2020 a bid opening was conducted as required by City Charter/Code and bids were received at the City's request from firms interested in providing seasonal requirements of Hauling Disposal of Dirt and Debris. Companies were notified via the Michigan Intergovernmental Trade Network (MITN); www.mitn.info. Two Hundred and Ninety Five (295) vendors were notified via the MITN website. Six (6) bid responses were received. Below is a detailed summary of the vendor responses.

Companies notified via MITN					
Troy Companies notified via MITN	6				
Troy Companies notified Active email Notification					
Troy Companies - Active Free					
Companies that viewed the bid					
Troy Companies that viewed the bid					

MITN provides a resourceful online platform to streamline the procurement process, reduce costs, and make it easier and more transparent for vendors to do business with the City of Troy.

Active MITN members with a current membership and paying annual dues receive automatic electronic notification which allows instant access to Bids, RFPS and Quote opportunities with the City.

Active MITN non-paying members are responsible to monitor and check the MITN website for opportunities to do business with the City.

Inactive MITN member status can occur when a company does not renew their account upon expiration. Inactive members cannot be notified of solicitations or access any bid information.

Based upon the bid responses and as per the attached bid tabulation; it is in the City's best interest to award the bid; to the low bidder, *Maloney Trucking of Troy, MI*. The award is contingent upon contractor's submission of proper insurance certificates, and all other specified requirements.

Financial

Funds are budgeted and available in the General Fund under the Public Works Department operating budgets for the Streets and Water Divisions for the 2020/2021 fiscal years.



CITY COUNCIL AGENDA ITEM

Recommendation

City Management recommends awarding contracts for one-year requirements of Hauling and Disposal of Dirt and Debris, with an option to renew for one (1) additional year to the low bidder meeting specifications, *Maloney Trucking of Troy, MI* for items #1, #2, #3, and #4 for an estimated total cost of \$168,625.00 at the unit prices contained in the bid tabulation; contracts to expire April 30, 2022.

FORMS:

Υ

		VENDOR NAME:			Maloney Trucking Troy, MI		Jackie's Transport, Inc.		Simply Construction & Excavating, LLC Franklin, MI	
				Т						
PROP year.	OSAL: On	e (1) year requiremen	ts of Hauling and Dispo	sal of Dir	t and Debris w	vith an op	tion to renew	for one (1) additional	
ITEM #	EST QTY (TONS)	DESC	RIPTION	PRICE/ TON	EXTENSION PRICE	PRICE/ TON	EXTENSION PRICE	PRICE/ TON	EXTENSION PRICE	
1	3,000	Broken concrete with possibly mixed with fill	· ·	\$6.00	\$18,000.00	\$13.89	\$41,670.00	\$6.98	\$20,940.00	
2	5,000	Broken asphalt possib	\$6.00	\$30,000.00	\$13.89	\$69,450.00	\$8.94	\$44,700.00		
3	7,000	Fill Dirt, material excavated from water and sewer repairs as well as ditching operations. Material may include culverts, excessively large stumps, logs, and wood materials that contain unsegregatable impurities such as cement, dirt and metal.		\$13.00	\$91,000.00	\$13.89	\$97,230.00	\$22.00	\$154,000.00	
4	1,500	Catch basin sludge ar	nd street sweepings.	\$19.75	\$29,625.00	\$24.99	\$37,485.00	\$52.00	\$78,000.00	
	ESTIMATED TOTAL ALL ITEMS (1 - 4):			\$168,625.00		\$245,835.00		\$297,640.00		
	DISPOS	DISPOSAL SCHEDULE MET: Y or N CONTACT INFORMATION: Hrs of Operations: 24 Hour Phone #: SITE VISIT DATE: DISPOSAL SITE: APPROVED SITE Y or N EPA PERMIT #: REFERENCES: Y or N INSURANCE MET: Y or N PAYMENT TERMS: EXCEPTIONS: Y or N ACKNOWLEDGEMENT: Y or N			Υ		Υ		Υ	
	CONTAC				As needed		7:00-5:00 M-F		M-F 7am-7pm; Sat 8am	
					248-379-6565		248-344-0047		586-879-1234	
	SITE VIS				05/13/20		Did not visit site		5/19/2020	
	DISPOSA				Pine Tree Acres - Eagle Valley Landfill		Advanced Disposal Northville		Carlton Farms Landfill - 28800 Clark Road, New Boston, MI 48164	
	APPROV				Υ		Υ		Υ	
	EPA PE				Not Specified		475946		MI0000181230	
	REFERE				Y		Υ		Υ	
	INSURA				Y		Υ		Υ	
	ALL OR				N		N		N	
	PAYMEN				30 Days Net		Net 30 Days		Net 30	
	EXCEPT				N		N		N	
	ACKNOV				Y		Υ		Υ	
	EQUIPM	ENT LIST:	Attached Y or N		Υ		Υ		Υ	

Y or N

	VENDOR NAME:			Ahern Contracting, Inc.		S.A. Torello Inc.		Osburn Industries, Inc.		
				Chesterfield, MI		Port Huron, MI		Taylor, MI		
	PROPOSAL: One (1) year requirements of Hauling and Disposal of Dirt and Debris with an option to renew for one (1) additional									
year.										
#	EST QTY (TONS)	DESCR	IPTION	PRICE/ TON	EXTENSION PRICE	PRICE/ TON	EXTENSION PRICE	PRICE /TON	EXTENSION PRICE	
1	3,000	Broken concrete with & without wire, possibly mixed w/fill dirt.		\$6.94	\$20,820.00	\$15.00	\$45,000.00	\$11.00	\$33,000.00	
2	5,000	Broken asphalt possibly	\$8.98	\$44,900.00	\$14.00	\$70,000.00	\$13.00	\$65,000.00		
3	7,000	Fill Dirt, material excava sewer repairs as well as Material may include cu large stumps, logs, and contain unsegregatable cement, dirt and metal.	s ditching operations. Ilverts, excessively wood materials that	\$24.00	\$168,000.00	\$14.00	\$98,000.00	\$25.00	\$175,000.00	
4	1,500	1,500 Catch basin sludge and street sweepings.		\$54.00	\$81,000.00	No Bid		No Bid		
	ESTIMATED TOTAL ALL ITEMS (1 - 4):			\$314,720.00		\$213,000.00		\$273,000.00		
	DISPOSA	DISPOSAL SCHEDULE MET: Y or N			Υ		Y		Y	
	CONTAC	CONTACT INFORMATION: Hrs of Operations:			7:00 - 7:00		7am - 5pm		7am - 5pm	
	24 Hour Phone #: SITE VISIT DATE: DISPOSAL SITE: APPROVED SITE Y or N EPA PERMIT #: REFERENCES: Y or N INSURANCE MET: Y or N			810-343-0403		810-602-6475		313-363-0080		
				2017-2018		Did not visit site		Did not visit site		
				Pine Tree		Not Specified		N/A		
				Y		Not Specified		Not Specified		
				4169		Not Specified		Not Specified		
				Υ		Υ		Y		
				Υ		Υ		Υ		
	ALL OR NONE AWARD: Y or N			N		N		N		
	PAYMEN	PAYMENT TERMS:			Net 30		Net 30		Net 30	
	EXCEPT	IONS:	Y or N		N		N		N	
	ACKNOV	VLEDGEMENT:	Y or N		Υ		Υ		Υ	
	EQUIPM	ENT LIST:	Attached Y or N	_	Υ	_	Υ		Υ	

Y or N

ATTEST:

(*Bid Opening conducted via a Go-To Meeting)

Kaitlin Sackner Beth Zaccardelli

FORMS:

MaryBeth Murz Kristine Kallek

Jackie Ahlstrom

MaryBeth Murz, Purchasing Manager

Υ

Υ